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Question Id : 6863401314 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863401315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 6863401316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863401317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6863405209. 1
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Question Number : 4 Question Id : 6863401318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863401319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863405217. 1
6863405218. 2
6863405219. 3
6863405220. 4

Question Id : 6863401314 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 6863401315 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 6863401316 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 6863401317 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 6863401318 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 5 Question Id : 6863401319 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Sub-Section Number : 2
Sub-Section Id : 68634041
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 6863401320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 6 Question Id : 6863401320 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6863405224. 4

Question Number : 7 Question Id : 6863401321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 6863401321 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863401322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 8 Question Id : 6863401322 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 9 Question Id : 6863401323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=1 1 1 gt 11 9 faH Sife
1@ | gEto dEem

A Y I [d49

B o I [as=R

C. [R i CER

D. [Hi&f gy

frafafad fomedl & @ 98t SR 1 Iga iU -
1. A-III, B-I1, C-IV, D-I
2. A-L B-IV. C-II, D-III
3. A-L, B-II, C-III, D-IV
4. A-III, B-IV, C-IL, D-I

Options :
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Question Number : 9 Question Id : 6863401323 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863401324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 6863401324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6863405240. 4

Question Number : 11 Question Id : 6863401325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 11 Question Id : 6863401325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863401326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 12 Question Id : 6863401326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863401327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 6863401327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863401328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 14 Question Id : 6863401328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863401329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 6863401329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 6863401330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= g7t 3epfcl &1 Q1 B & A UEl faesed @1 994 Bifore?

O— | <O
1.
3. O—
4| O—>
Options :

6863405261. 1
6863405262. 2
6863405263. 3
6863405264. 4

Question Number : 16 Question Id : 6863401330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863401331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 17 Question Id : 6863401331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863401332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 18 Question Id : 6863401332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 6863401333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. Sfeor

Options :

6863405273. 1
6863405274.2
6863405275. 3
6863405276. 4

[ ]

Question Number : 19 Question Id : 6863401333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I B Tl a9 76 IR 14X P AEA . 76 98 A0 Wpd Ugadl ¢ | T8 99 I & R @A EH &
1< <1 §R 20 Aod & R 9% 91 T d Tg<-  Ted a1 gedl 2| 99 o 931 & WR P - a1 &9
1Y ¥ a1 g% Ui 1 a8 g fomn & 9 o

1.d
2. gfgyq

3.3t

4, GI&T

Options :

6863405273. 1
6863405274. 2
6863405275. 3
6863405276. 4

Question Number : 20 Question Id : 6863401334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe T Tl 8- T B AT A 111 1 UHHE T 1 T I BT S 3 11 ey 82
1. foar

WTg

 Hed bl

[ ]

L]

4 i
Options :
6863405277. 1
6863405278. 2

6863405279. 3
6863405280. 4

Question Number : 20 Question Id : 6863401334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A Y9 Hgdl 8- AT B OTa1 I 1d1 1 THTE T 31 T 397 &1 A d 3 o1 ey 82
1. foar
TS
HeRAq sipd

| )

[#%]

4 i
Options :
6863405277. 1
6863405278. 2

6863405279. 3
6863405280. 4

Question Number : 21 Question Id : 6863401335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HIgTe 719 A0S & SR R g8 9 gl
1. SUTSd AT
2. furge srgaifyare
3. Yferg srgHiiYgiREe
4. foygd WiaAs S

Options :




6863405281. 1
6863405282. 2
6863405283. 3
6863405284. 4

Question Number : 21 Question Id : 6863401335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HigTel T AEET & SR Ramd g5 19 Gl
. SUTR TSI
frursa sreaifmre
fer srgHimiiEe
fhuEa WRisEEs

Options :

6863405281. 1
6863405282. 2
6863405283. 3
6863405284. 4

—

| B

(%]

FEs

Question Number : 22 Question Id : 6863401336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

W=l 1 (G o oI & =0 eIt I (UETe)

A [GH I [=m

B. [WalY (FH-UId) 1L |3y

C. [HYHMGI I1I. [dsh

D [Fg IV. [T &
fafafad faedl & 9 98l SR &1 994 S

1. A-II. B-IV. C-III. D-I

|

CA-TV, B-II, C-III. D-I
3. A-IL. B-IV, C-1, D-III
4. A-1. B-II. C-III, D-IV

Options :

6863405285. 1
6863405286. 2
6863405287. 3
6863405288. 4



Question Number : 22 Question Id : 6863401336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

= 1 (F5 & wiias & =@x0n)  gal 11 (W)

A [HH I [T

B. [UalY @H-UITWD) 1L [ary

C. [AyHM™Ga 11 [dsh

D. [5d IV. [&1T% &
frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-IV. C-III. D-I

| o

CA-TV, B-IL C-IIIL D-I
3. A-ILL B-IV. C-1. D-III
4. A-1. B-11. C-II., D-IV

Options :

6863405285. 1

6863405286. 2

6863405287. 3
6863405288. 4

Question Number : 23 Question Id : 6863401337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frafafad & ¥ oF YR e TR (315, 30.0) 31 9uH Tl e 91 87
1. 4l BHiBR
TR
R R A
 HUig Hayd

| )

[FN]

=Y

Options :

6863405289. 1
6863405290. 2
6863405291. 3
6863405292. 4

Question Number : 23 Question Id : 6863401337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafafad o 9 o yRdg i ThikuRE (31%.51.9) B uyd ufge s 9+ 82
1. €0 SR

IR PE

R A A

B AR

[ ]

L]

=

Options :

6863405289. 1
6863405290. 2
6863405291. 3
6863405292. 4

Question Number : 24 Question Id : 6863401338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CIEARAICAGUES

BY I TR Pifcl TP AT 5. [T 1968 & TR g5 NYUGHD iG BT auH B P (o AHIG:
TRIeRd [ dT ST & |

BYT I1: T §B1gX Il 1 BRd Pifd SRey &1 o)

SWRIdd HYF & i J, 1< 3T MU fawedi & I Fel 3ok &1 99 Difee:
1. BYFI R I GHI T §

HY 1 IR 11 ST ST §

PYT I I 8. Alh YT I T &

| )

Lag

DY YW B, AfhI BY 1 Tl ©

=

Options :

6863405293. 1
6863405294. 2
6863405295. 3
6863405296. 4

Question Number : 24 Question Id : 6863401338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIEARAICAGUES

BY I TR Pifcl TP AT 5. [T 1968 & TR g5 NYUGHD iG BT auH B P (o AHIG:
TRIeRd [ dT ST & |

DY I1: T 951G Vel 4 TR pifd 3R P of|

SWRIFd BYF & 3Tl H, =1 4T T fddbedi & I Hel Gov &1 99 Difoie:
1 FYI ARG T &

HYA 1 3R 11 ST SR §

PYTI g . AP PYT 1 T &

[

L]

4. BYT I 8, AfpT PUTII T &

Options :

6863405293. 1
6863405294. 2
6863405295. 3
6863405296. 4

Question Number : 25 Question Id : 6863401339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

mﬁﬁaﬁ%ﬂﬁﬂaﬁﬁﬁmﬁﬁ@ﬁw S5 YL DT S Yefid B i Widd
e PRl 82

 HT®E-51T

—

L]
1

[y
| )
L¥%]

Options :

6863405297. 1
6863405298. 2
6863405299. 3
6863405300. 4

Question Number : 25 Question Id : 6863401339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e HHE P19 7 Bl W61 &l dl FHfeiad 7 9 Sl siwe APUid Bl S WeHud B i e

e Bl 87

TG 51T

. 3T=95-151

. 3Te54-123
4. HT=5E-356

Options :

6863405297. 1

6863405298, 2

6863405299. 3
6863405300. 4

—

[

L]

Part B: Water Engineering and Management

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

68634028
2

Online
Mandatory
75

75

300

Yes

0

1
68634042
Yes

null

Question Number : 26 Question Id : 6863401340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chezy's coefficient 'C” i3 related to Darcy-Weisbach friction factor '/f" as -

[y

-C=’Eg”&a
.C=,(8¢/f)
3.C=/(g/8f)

4. C=,/(f/8g)

| )



Options :

6863405301. 1
6863405302. 2
6863405303. 3
6863405304. 4

Question Number : 26 Question Id : 6863401340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=Iolt U7 ‘¢, ST divid® 3 BRI Fafaftad ¥ 9 59 veR dafta 8

2.C=(82/f)

Options :

6863405301. 1
6863405302. 2
6863405303. 3
6863405304. 4

Question Number : 27 Question Id : 6863401341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : The head indicated by a mercury manometer is lower than the actual value.

Statement II : The head indicated by a water manometer is lower than the actual value,

In the light of the above statements. choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement [ 1s incorrect but Statement II is correct.

Options :

6863405305. 1
6863405306. 2
6863405307. 3
6863405308. 4



Question Number : 27 Question Id : 6863401341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R

HYA L U IRT BATHIER gRI1 R0 U1 ardia® 50 § FH a6l

HY I1: TS O] HHICR gR1 SR e aRafd® Jed 9 &4 Sl 5|
SWRIdd HYF & 3l J, 1= f3U T fadwedi & I Fel 3ok &1 99 Difee:

1. U1 IR 11 ST Tl &
2. BYF 1 IR 11 Tad §
3. Y1 G B, Aifh YA 11 7Ted ©
4. DY 17109d 5. Al HUH 1T Hel §

Options :

6863405305. 1
6863405306. 2
6863405307. 3
6863405308. 4

Question Number : 28 Question Id : 6863401342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement - I : The pressure on the base of a liquid column will depend upon the shape of the column.
Statement - IT : The pressure over the free surface of a fluid at rest will vary with the location.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

| )

. Both Statement I and Statement II are false.
3. Statement I is true but Statement I is false.

4, Statement I is false but Statement IT is true.

Options :

6863405309. 1
6863405310. 2
6863405311. 3
6863405312. 4

Question Number : 28 Question Id : 6863401342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CIEARAICAGUES

PYT I TR Y T AR TR 2919 I9P APR R 1R Far gl

B 11: [t ol Uardl 1 o e R qa1d RIH & SR Sel-3a gidl ¢
SRIGI DY & 3HTaild 1, H1d 2y 7Y fdeedi T I gt 9 &1 99 Difor:

1. PYT1 AR I SHT TeT &
2. YT AR SHI Tad &
3. YT I el 8. AfpT FYF 1 Tad ©

4. BYT17TEd &, AT FUT T Tel &

Options :

6863405309. 1
6863405310. 2
6863405311. 3
6863405312. 4

Question Number : 29 Question Id : 6863401343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The size of modular bricks is

1. 10x10=9 e¢m

[

. 19%9=0 em
3.22.5x10x8.5 cm
4, 22.5x8.0«9 cm

Options :

6863405313. 1
6863405314. 2
6863405315. 3
6863405316. 4

Question Number : 29 Question Id : 6863401343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HISYTR 5¢ Bl Hgol o4l Bidl §

1. 10=10=9 em

| )

. 19x9=9 cm
3.22.5%10=8.5 cm
4. 22.5x8.0x9 cm

Options :

6863405313. 1
6863405314.2
6863405315. 3
6863405316. 4

Question Number : 30 Question Id : 6863401344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Basalt 1s

1. Sedimentary Rock

(B

. Meta Morphic Rock
3. Extrusive igneous Rock
4. Intrusive igneous Rock
Options :
6863405317. 1
6863405318. 2

6863405319. 3
6863405320. 4

Question Number : 30 Question Id : 6863401344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TN T8

. 3faqgrdl IgH

 PIEIRT 92

SR 3T 9T

3fa: (e smig agH

oy

| )

L

=Y

Options :
6863405317. 1



6863405318. 2
6863405319. 3
6863405320. 4

Question Number : 31 Question Id : 6863401345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Ancient Indian Temples I |White Marble
B. |Taj Mahal, Agra I1. |Granite
C. |Red fort, Dellu ITI. |Pink Sand Stone]
D. [Rashtrapati Bhavan, Delhy I'V. |[Red Sand Stone

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

| ]

CA-IL B-II, C-II1, D-IV
3. A-IL. B-III. C-I. D-IV
4. A-I. B-II. C-IV, D-III

Options :

6863405321. 1
6863405322.2
6863405323. 3
6863405324. 4

Question Number : 31 Question Id : 6863401345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 Tt 11
U HRAE ey 1 [gthe ArEd
dremed, PRI | 1L PArge
e faret, feeedl | 111 TSl g1 UeR
RIFufd Yo faeedt | IV, [are <01 oeR

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-II. B-I1. C-IV, D-III

ofolwx

| o

cA-L B-II. C-III, D-IV

3. A-IL, B-III. C-1. D-IV

4. A-I. B-II. C-IV, D-III



Options :

6863405321. 1
6863405322. 2
6863405323. 3
6863405324. 4

Question Number : 32 Question Id : 6863401346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Workability of conerete mix with low water cement ratio i1s determined by

1. Tensile strength test

2. Soundness test

LIPS ]

. Compaction factor test
4. Compressive strength test
Options :
6863405325. 1
6863405326. 2

6863405327. 3
6863405328. 4

Question Number : 32 Question Id : 6863401346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o oTa- e SFua & a1y Sfpe e o geria feae gr Huffa stord @
1. T Qe ORI&m

T Tier

T HR GRI&T

4. FITS® &

[

L]

Options :

6863405325. 1
6863405326. 2
6863405327. 3
6863405328. 4

Question Number : 33 Question Id : 6863401347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the construction of retaining structures, the type of concrete mix to be used is

1.1:3:6

4, 1:4:8

Options :

6863405329. 1
6863405330. 2
6863405331. 3
6863405332. 4

Question Number : 33 Question Id : 6863401347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARG eTa & FAaio & fow g deR &1 dwie Yo Sugn =1 @rfgul

1.1:3:6

]
—
2
=

4. 1:4:8

Options :

6863405329. 1
6863405330. 2
6863405331. 3
6863405332. 4

Question Number : 34 Question Id : 6863401348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement - I : Dry aggregate absorb water from the mixing water and thus affects the workability.
Statement - II : Aggregates containing the surface mixture contribute extra water to mix and thus inerease the
water/cement ratio.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.

[

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.
4. Statement [ 15 false but Statement 11 is true.

Options :

6863405333. 1

6863405334. 2

6863405335. 3
6863405336. 4

Question Number : 34 Question Id : 6863401348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g sy U &
FU I T RIST SR X U B e S 8 9 T § SR U8 S9! Yl &1 yHIfad FRdr o

%ﬁu:m:mﬁr@aq&ﬁﬂeﬁwwﬁﬁﬁﬂﬁaﬁrﬁaﬂﬁmwmmﬁ@ﬂ?mﬁmwaﬂ
I

SIRIGd BYA & fraid H, A ST T fasweai 7 ¥ 9et ST &1 98- HIol:
1L YT ARG T &
2. HYA 1 IR 11 ST S §
3. BY 1 9 B, T SUA 11 ST §

4 BTN AT EH I g 8

Options :

6863405333. 1
6863405334. 2
6863405335. 3
6863405336. 4



Question Number : 35 Question Id : 6863401349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The arithmetical check for Height of Instrument method (HI) 1s -

1. >BS — >TIS =Furst RL —Last RL

| B

. YBS -3 FS=Last RL —First RL
3.3FS—3>BS=Last RL — Fust RL
4. >BS — > FS =First RL — Last RL

Options :

6863405337. 1

6863405338. 2

6863405339. 3
6863405340. 4

Question Number : 35 Question Id : 6863401349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Height of Instrument method & F(‘TQ SHIUC Siig %(HI}

1.2 BS - YIS =First R — Last RL

|

. >BS—3FS=Last RL — First RL
3.>FS—>BS=Last RL — First RL
4. 3y BS — > FS =First RL — Last RL

Options :

6863405337. 1
6863405338. 2
6863405339. 3
6863405340. 4

Question Number : 36 Question Id : 6863401350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :
Assertion A : High precision of survey work is not required in geodetic survey.

Reason R : The curvature of earth is considered for the measurement in Geodetic survey.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is NOT the correct explanation of A.
3. A 15 correct but R is not correct.

4. A is not correct but R is correct.

Options :

6863405341. 1
6863405342. 2
6863405343. 3
6863405344. 4

Question Number : 36 Question Id : 6863401350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g1 U [GU T §: TP SHMUDHU (Assertion A) P $U T [ARET § Al TH 3HP DRI (Reason R) P 3U
o

Hftrpy A: orsfes gdern & wdem &g @t 3= uRSdl Bt 31a=addl el el g
HRUR: Y- TORTT Td&01 & A9 gedt &1 apal R FRR s gl
SRIT PY & HIHR, H1d AT T Aol H I 9ad Iugad S &1 T4 DI

1. AR R A T € AR R, A DI TE! I &
2. A SRR Gl Tal & SRR, A DI Tl RS ol &
3. AR § O R Hel el o

4. AGEI 8l g AP R TR

Options :

6863405341. 1
6863405342. 2
6863405343. 3
6863405344. 4

Question Number : 37 Question Id : 6863401351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement - I : To locate the magnetic ores, Geologist use the compass survey.

Statement - II : The main reasons for the local attraction in compass survey are due to the terrestrial features
either natural or man made.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.

[

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.

4. Statement I is false but Statement I is true.

Options :

6863405345. 1
6863405346. 2
6863405347. 3
6863405348. 4

Question Number : 37 Question Id : 6863401351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e dl ey fau g

TYF I GBI 3D B Tal @ & 78 YA+ BT Fa&0] BT SUaT & 6 |

FUF I1: HH FA&01 J R SHYU &1 87 SR Wi ae 71 qHa Hifd vty L 8
SWRIFd BYF & 3l H, A1 4T T f[dwedi & I Hel Gov &1 99 Difoie:

1. BYTI AR IS II B
2. HYTI1 AR SHT ST B
3. BYF 1 TA B, Al SUF [T HTI B

4. FYTI I T, AT BYT I ST Bl

Options :

6863405345. 1
6863405346. 2
6863405347. 3
6863405348. 4

Question Number : 38 Question Id : 6863401352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following sights will be applicable for a change point?

A. Back sight

B. Back sight and Fore sight

C. Fore sight

D. Intermediate sight

E. Fore sight and Intermediate sight

Choose the correct answer from the option given below :

1.A

[ ]

.B
3.6
1. E

Options :

6863405349. 1
6863405350. 2
6863405351. 3
6863405352. 4

Question Number : 38 Question Id : 6863401352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafeiad 7 9 o H-H =8 giadA fdg & fau s o s 2

AU DIl

B. UI® &1 3R 3FI DI =P
C. AT DT P

D. HOAGY

E. 3T & &IPSR O &Y

i< fau Y fdeedl © § 99 Sugad TR &1 99 iy

LA
2. &dd B

3.C

4. E

Options :

6863405349. 1
6863405350. 2
6863405351. 3
6863405352. 4



Question Number : 39 Question Id : 6863401353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which methods you will prefer to estimate best the area of an irregular and curved boundary?

1. Average ordinate methods

| )

. Mid-ordinate methods

L% ]

. Simpson's method
4. Trapezoidal method

Options :

6863405353. 1
6863405354. 2
6863405355. 3
6863405356. 4

Question Number : 39 Question Id : 6863401353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U -l Sk qHIGER UHT & A% &l galad A H o ferd 3 fog fafer o1 urufiear
&

1. 3irgd 9oy fafe
. geg oy fafe
o= fafg

4. gHaEHR fafy

[

L]

Options :

6863405353. 1
6863405354. 2
6863405355. 3
6863405356. 4

Question Number : 40 Question Id : 6863401354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :
Measure of length

Statement - I : The formula of correct length 1s % Actual length of tape

Nominal length of Tape

-W?

247

In the light of the above statements. choose the correct answer from the options given below:

Statement - II : The formula of sag correction 1s - x L.

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement I is false.

4. Statement I is false but Statement IT is true.

Options :

6863405357. 1
6863405358. 2
6863405359. 3
6863405360. 4

Question Number : 40 Question Id : 6863401354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 2 Py feu
FYTI: O\Z‘Eﬁm G| Gﬁ% : Moot loga Actual length of tape

Nominal length of Tape

YT NNAN IR ST - .,

24p?

SWRIGd HUA & ATAID 5, A S0 U [dFedi § I Tol 3aR &1 994 DI
1. PYT 1 IR 11 ST T B
2. HYT 1 AR I ESH! 3B

3. YT 1 9d g, Al U IT 39 Bl

4. PYT I I 8, AT YT 11 T B

Options :

6863405357. 1
6863405358. 2
6863405359. 3
6863405360. 4

Question Number : 41 Question Id : 6863401355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :
Assertion A : Offsets are lateral measurement made w.r.t. main survey line which may be oblique or
perpendicular in nature.

Reason R : Optical square is used to establish two points at 0°.

In the light of the above statements. choose the most appropriate answer from the options given below :

1. Both A and R are correct and R is the correct explanation of A.

[

. Both A and R are correct but R is NOT the correct explanation of A.
3. A 1s correct but R is not correct.

4. A is not correct but R is correct.

Options :

6863405361. 1
6863405362. 2
6863405363. 3
6863405364. 4

Question Number : 41 Question Id : 6863401355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 31 YA (UL § : U SIS UH (Assertion A) & ¥4 H [¢11Ed § 3R GIRT 3HP PRI (Reason R) B
sq 4

HUBUT A:STHHE BT aau X & day H &y g ur 779 § o foRe 71 dead 81 99
HRUIR: APHT WHER BT IIGNT 0° TR 3 fig wfid &= & fore fFar smar g
SRIS Y & HTalld 1, H1d 3y 7Y fdeedi T I 9 Sugad SR &1 99+ SIfog:

1. A SR R I 981 § AR R. A P! Tl ARAT B

A SRR EH Tl § SRR, AD| Ugl ARA 51 6|
A8 8 Afe R HRI e &

AFEITE g AP R T B

Options :

6863405361. 1
6863405362. 2
6863405363. 3
6863405364. 4

b2

L¥ 5]

e

Question Number : 42 Question Id : 6863401356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fundamental lines of theodolite are -

A, Vertical axis

B. Horizontal axis

C. Line of collination

D. Axis of plate levels

E. Axis of telescope level

Choose the correct answer from the option given below :
1. A and B only
2. B and C only
3JAB.C.Dand E

4. D and E only

Options :

6863405365. 1
6863405366. 2
6863405367. 3
6863405368. 4

Question Number : 42 Question Id : 6863401356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{9 T ¥ Theodolite B HAHd Y@ HIH-HI § -

A dg&g 3@

B. &fdsl i

C. T 3ary

D. ©¢ &R B 431
E. 336 TR 3l yil

19 fdu T fasbedl © 9 el SUgad 3R &1 99 DIy

1. Hadd A R B
&ad B3R C

(B

_A.B.C.D3IRE

4.%ad D 3R E

Options :

6863405365. 1
6863405366. 2
6863405367. 3
6863405368. 4

[¥ 5]



Question Number : 43 Question Id : 6863401357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Temperature correction (C,)| 1. [’If" B !f':“‘
AE

B. |Puel correction ( C‘?} IL. .
2L

C. |Slepe correction (Cy) II1. ri{ }';” - f] L

: : Lw?

D. [Sag correction (C,) vV |—

24n" P

Choose the correct answer from the options given below:

1. A-IIL, B-IIL. C-IV. D-I

[ ]

CA-IL B-III, C-II. D-IV
3. A-IT. B-1. C-I1. D-IV
4. A-L. B-IV, C-II, D-III

Options :

6863405369. 1
6863405370. 2
6863405371. 3
6863405372. 4

Question Number : 43 Question Id : 6863401357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey
et 1 et 1

A QoEEdEeE | L LEEL:_{lJfL
AE
B G | L ‘—L
C. eradmied | oL |a(r,-7,)L
LW?

D. [Farfirear geme | IV,

24n° P,
FfaiRad foweal § O 9ol 3Tk & 944 DI

1. A-IIL B-1II. C-IV, D-I

2. A-L. B-III. C-I1. D-IV
3. AL B-1. C-I1. D-IV
4, A-I. B-IV. C-II. D-III

Options :

6863405369. 1

6863405370. 2

6863405371. 3
6863405372. 4

Question Number : 44 Question Id : 6863401358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The expression for hoop stress / circumferential stress (F;) generated in the material of thin cylinder due to

internal pressure of fluid (P) 1s given by:
Where ¢ = thickness of the wall of cylmder

d = internal diameter of cylinder

pd

1.1:| =
2 pd
I 4t
p’d

S BakeTy
4. F :p—d-



Options :

6863405373. 1
6863405374. 2
6863405375. 3
6863405376. 4

Question Number : 44 Question Id : 6863401358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

%d & HTdR@ ga1d & SR Uad (e & IHUT § 3ad ey / Uil a-1a & o7 & 31 FHie
el g

o

el
: = fadsT ol giers
d = ey &1 sfide U™
pd
LF, o
5 pd
g Y et
I 41
_Pd
&= 2t
_ pd’
*H=3
Options :

6863405373. 1
6863405374. 2
6863405375. 3
6863405376. 4

Question Number : 45 Question Id : 6863401359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement - I : The maximum shear stress (q max) for a rectangular section is 3/2 times average shear stress.
Statement - II : The maximum shear stress (q max) for a circular section is 4/3 times the average shear stress.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.

4. Statement [ 1s false but Statement II is true.

Options :

6863405377. 1
6863405378. 2
6863405379. 3
6863405380. 4

Question Number : 45 Question Id : 6863401359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i g sy U &

DY L HIAIPR WS & AU HEHay SUEgv] Hidad SYd 9=y Uidad a-1d &1 3/2 1 ¢ |
HYT I1: TATHR TS P [T fUHan T Widad Sid =01 Hfdad &1 4/3 T 2|
SWRIKI HYA & 3fTclie H, A QU Y [deedl & T 98l Gk &1 99 P

1. BYTI AR IS II B
2. HYTI1 AR SHT ST B
3. BYF 1 TA B, Al SUF [T HTI B

4. FYTI I T, AT BYT I ST Bl

Options :

6863405377. 1
6863405378. 2
6863405379. 3
6863405380. 4

Question Number : 46 Question Id : 6863401360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement I : Rate of change of shear force (f) at any section of a loaded beam is equal to the Rate of Loading

df

(w) at the section1.e. w= e
X

Statement IT : Rate of change of bending moment at any section of a loaded beam represent the shear force

(F) at the section 15 f %’E :
X

In the light of the above statements. choose the most appropriate answer from the options given below:
1. Both Statement I and Statement IT are correct.
2. Both Statement I and Statement II are incorrect.
3. Statement I is correct but Statement II is incorrect.

4. Statement I is incorrect but Statement IT is correct.

Options :

6863405381. 1
6863405382. 2
6863405383. 3
6863405384. 4

Question Number : 46 Question Id : 6863401360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FyfRus:
BUTI : 710 THIBET 1oaded beam P (B TS TR UV §d & IRGdT R Dl axfar gl w=L .

i

FUT 11 : 19 Frfixu i g8 & §o4 eyt & tad T R P a@ wud adarg) /-9

dx

SWRIGd HUA & AP H, A S0 U [dFedi § I Tol A= &1 999 DI

1. YT AR I AT ST B
2. HYTI AR I SHT TG
3. YT 1 9d o, Afth- U IT A B
4. FYTI HEI T, AfPT Py I gI B
Options :
6863405381. 1
6863405382. 2

6863405383. 3
6863405384. 4

Question Number : 47 Question Id : 6863401361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
. |Shear force (umit) | I [Newton /Area
Stress II. Newton
Strain IT1. [Lateral Strain / Axial Strain
. |Poisson Ration (N)| IV. |Change in length / Actual length

o] [l o] i

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

| E)

CA-T B-IIL C-IV. D-III

[#5]

A-IL B-II1. C-IV, D-1
4, A-I1, B-II1. C-IV, D-I

Options :

6863405385. 1
6863405386. 2
6863405387. 3
6863405388. 4

Question Number : 47 Question Id : 6863401361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i 1 1 gl 11 9 fiar Sifen

g 1 T 1T
HRET g L R amma

GRIE] 11 [ea
EEIC] 111 [ure Rd=ra/ g{di Rddrd
. |Poisson |’Eﬁ?ﬁ:|j'3‘|ﬂ'q'lﬂ IV. [da1E d gRad) aaid® o
FafdRad fawedl © ¥ TEl SR &1 999 Hifvd :

1. A-IL. B-I1. C-IV, D-III

ofaw]>

| ]

CA-LB-IIL C-IV, D-ITT
3. A-IIL. B-III, C-IV, D-I
4. A-I1. B-III. C-IV. D-I

Options :

6863405385. 1
6863405386. 2
6863405387. 3
6863405388. 4



Question Number : 48 Question Id : 6863401362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The optimistic. most likely duration and the pessimistic time estimate in a network are 6. 10 and 12 months
respectively. The expected time 1s -

1.11. 67 months
2. 10.67 months
3. 9.67 months
4. 8.67 months
Options :
6863405389. 1
6863405390. 2

6863405391. 3
6863405392. 4

Question Number : 48 Question Id : 6863401362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i U Aead § HIRIMATE], ey AT afe 3R SYHHR W T SHH S 6. 10 3R 12
Tl 8. 1 SUfET 9 1 PR

1.11. 67 months

2

. 10.67 months
3. 9.67 months
4. 8.67 months

Options :

6863405389. 1
6863405390. 2
6863405391. 3
6863405392. 4

Question Number : 49 Question Id : 6863401363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The optimistic, most likely duration and the pessimistic time estimate in a network are 5. 6 and 10 months
respectively. The expected time is -

1. 6 months

[ B

. 6.5 months
3. 7 months

4. 7.5 months

Options :

6863405393. 1
6863405394. 2
6863405395. 3
6863405396. 4

Question Number : 49 Question Id : 6863401363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Hedd § SENarg] Siitad GUIdd safy 3R syadar 98y &I UM HH: 5. 6 3R 10 TeH o,
S{UTET THY J1d B

6 ﬂéﬁ

. 0.5 qé ':‘]

e ﬂéﬁ
4. 7.5 Ifé 3]

Options :

6863405393. 1

6863405394. 2

6863405395. 3
6863405396. 4

—

[ ]

L]

Question Number : 50 Question Id : 6863401364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Give below are two statements :

Statement - I : PERT 1s most suitable for research and development type of projects as it account for
uncertainties involved in estimation of time estimates.

Statement - II : Acritical path. method is suitable for repetitive type of projects for example construction
projects.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.

4. Statement I is false but Statement II is true.

Options :

6863405397. 1
6863405398. 2
6863405399. 3
6863405400. 4

Question Number : 50 Question Id : 6863401364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR sy feug:

FU 1 3R U4 fa@my aRaiesi & < & perT faft 999 3FAF F T Ta9 3uged © Fife 78
Sfffaared & ot Fied @Rl 8|

FYA 11 Hifae gy [afe fafor afarerrs Sl Riad! WeR &1 aikaisms! & e S9ge © |
SWRIGT DY & 3HTaild 1, 19 fay 7Y fdeedi T I Tgt 9 &1 99 S

1. BYFT1 AR 11 4 Tel B
2. FYF1 3R 1 EH Tad B
3. YT 1 Tel &, s Sy 11 TTad e

4. Y 17TAd &, Afeh HY 11 Tal &

Options :

6863405397. 1
6863405398. 2
6863405399. 3
6863405400. 4



Question Number : 51 Question Id : 6863401365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following project management technique is deterministic in nature.

1. LCES

| B

. GERT
3. PERT
4. CPM
Options :
6863405401. 1
6863405402. 2

6863405403. 3
6863405404. 4

Question Number : 51 Question Id : 6863401365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafad o 9 S uRaieH yaeH de-iie ot gl HuRurers g1

1. LCES

| S

. GERT
3. PERT
4. CPM
Options :
6863405401. 1
6863405402. 2

6863405403. 3
6863405404. 4

Question Number : 52 Question Id : 6863401366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In PERT technique, the time estimate of activities and probability of their concurrence follows:

1. Normal distribution curve

[

. p-distribution curve
3. Poisson distribution curve

4. Binomial distribution curve



Options :

6863405405. 1
6863405406. 2
6863405407. 3
6863405408. 4

Question Number : 52 Question Id : 6863401366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G (PERT) d-1op &, TTTaal §5a M 3R SH@! Fedfd &1 G4 & ol S19-91 9% g

1. UHT0 §¢4 deh

| )

. B-deTTh

. Poisson W G

L

4. Binomial d¢- deh

Options :

6863405405. 1
6863405406. 2
6863405407. 3
6863405408. 4

Question Number : 53 Question Id : 6863401367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s a non-recording raingauge?

1. Tipping bucket type raingauge

2. Symon's raingauge

LIPS ]

. Weighing type raingauge
4. Floating type raingauge

Options :

6863405409. 1
6863405410. 2
6863405411. 3
6863405412. 4

Question Number : 53 Question Id : 6863401367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁl’ﬁﬁﬁaﬁ ff @ ﬁ:fﬁf aﬁrnrtﬁ UA non-recordin g % ?
. (Tipping bucket) YIHTY} T

. (Symon's) TEIHTT T

. (Weighing ) THTHT 4=

. (Floating) GUIHTHY T

a—y

[

L]

=S

Options :

6863405409. 1
6863405410. 2
6863405411. 3
6863405412. 4

Question Number : 54 Question Id : 6863401368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Precipitation) LIST II (Characteristics)

R Frontal Cyclonic I Striking of air masses with

" |Precipitation " [topographic barriers

B Cmr\r'e!:ti'x_'e I Horizont;l air ﬂo*.j' o lc_m' pressure
" Precipitation " larea cauvsing the air to lift

C Orog.rgph?c o Lifting of one air mass over
" Precipitation " lanother

D Non?ﬂ_'onr_al cyclonic v Dlle to upward movement of warm

precipitation air

Choose the correct answer from the options given below:

1. A-IL. B-III, C-IV. D-I

| B)

AL B-IV. C-1, D-11
3. A-IV. B-1I, C-1. D-III
4, A-L. B-II, C-III, D-IV

Options :

6863405413. 1
6863405414.2
6863405415. 3
6863405416. 4

Question Number : 54 Question Id : 6863401368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey
Tt 1 qUT Tt 11 Fa=iuaTe

A |3i=a gardt qun L [Rcrdidd ar &fdsl 3R Udig & 91 a1 So08H ®1 UeR
B. [Gdg-l ayul 1L [H IUTld &7 a1 (o9 &1 R §4dl &

C. [gadg quu 111 [U% I So0HH BT GHL TR 36

D.

TR-Tgcd 9eald] auu | IV, [T 831 & SR @1 3R Tid & SR
fafafad faemedl O O 981 IR &1 994 I -

1. A-II. B-ITI. C-IV. D-I

2. AL B-IV, C-1, D-II
3. A-IV. B-1I, C-1. D-III
4. A-1. B-I1. C-III, D-IV

Options :

6863405413. 1
6863405414. 2
6863405415. 3
6863405416. 4

Question Number : 55 Question Id : 6863401369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The air that rushes horizontally into a low pressure area changes into a whirling mass. because
of the rotatory motion of the earth about its own axis.

Reason R : The central portion of this air mass with low pressure acts like a cluminey where air gets lifted,
expands. cools and finally gets condensed.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R is the correct explanation of A.
2. Both A and R are true and R 1s NOT the correct explanation of A.
3. A 1s true but R is false.

4. A is false but R is true.

Options :

6863405417. 1
6863405418. 2
6863405419. 3
6863405420. 4

Question Number : 55 Question Id : 6863401369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 &l YA (AU T §: Ud SHIDHYT (Assertion A) P ¥4 T [AlE0 § 3R GERT 3HD BRI (Reason R) &
SO

SffiEY A T a9 aTd &7 B RP &fol 39 ¥ JARHH aig, Gl &1 30T 31 & IRI iR 9UH &
ORUMTRESY T YR soaq= o uRafdd g ot 81

BRI R: HH ga19 aldl 34 a1 SoddH S Ted YT U [0 B a¥e SR Sl § fored arg 34 o.
therdl 8. 381 Bkl & 3R 3ida: Fuid 8l &l 81

SRIS Y & HTalld 1, H1d 3y 7Y fdeedi T I 9 Sugad SR &1 99+ SIfog:
1. A SR R 3T 981 8 AR R. A B Hel URaAT B

A SRR Tl § SRR, A D] Ue! ARAT 78! 5

. A8 § AfpT R TR 8 &

 AFEI T8 § AfpTR L ©

Options :

6863405417. 1
6863405418. 2
6863405419. 3
6863405420. 4

b2

L]

e

Question Number : 56 Question Id : 6863401370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Measurement of precipitation is based on which of the following assumptions :-

1. precipitation is measured as the vertical depth of water that accumulates on a level surface

2

. precipitation i1s measured as the horizontal area on which water accumulates.
3. both vertical and horizontal depths are taken to measure precipitation.
4. distribution of rainfall is necessary to be measured.

Options :

6863405421. 1
6863405422. 2
6863405423. 3
6863405424. 4

Question Number : 56 Question Id : 6863401370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFafeaa o @ 9 sfiuRu & sryR W awu) &1 779 a1 o
1. 91 &1 O B FHEfeR el & &9 H BT 91T 8 ol U6 TR &I 9de TR 99 sidl o
g9l @I Ul 31 Afde &3 & &4 & A°T 9Idl § o U6 R & 9dg W aHT gldl &
. FHealeR 3R &8s g1 & TS &1 U 91U W J191 51T
4. TYI-FAGRUT B AT TS ST S

[

L]

Options :

6863405421. 1
6863405422. 2
6863405423. 3
6863405424. 4

Question Number : 57 Question Id : 6863401371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A large air mass swirling around a low pressure area 1s known as -

1. Tornado

b2

. Cyclone

3. Hadley cell

=

. Anti-Cyclone

Options :

6863405425. 1
6863405426. 2
6863405427. 3
6863405428. 4

Question Number : 57 Question Id : 6863401371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U DY ald aId &4 & 9R| 3R YHd U U §5 dr] GodH Dl ol Sod o-

1. 94sY

| )

dehdld

Lad

. Hadley cell
4. AfcrEshaTa

Options :
6863405425. 1



6863405426. 2
6863405427. 3
6863405428. 4

Question Number : 58 Question Id : 6863401372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Hydrology is the study of

1. Ramwater

b2

. Sea water
3. Flood water
4. Surface and Ground water
Options :
6863405429. 1
6863405430. 2

6863405431. 3
6863405432. 4

Question Number : 58 Question Id : 6863401372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SRAGEIEEAR R

ot i)

gl g (oren)

. dlg P ulc]

a—y

[

L]

A8 SR Y-

e

Options :

6863405429. 1
6863405430. 2
6863405431. 3
6863405432. 4

Question Number : 59 Question Id : 6863401373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Infiltration class)[LIST II (Rate of Infiltration)
A WVery slow I 0.1 1o 0.5 inches'hour

B. [Slow IT. |=0.1 inches'hour

C. MModerate I | 1.0 inches'hour

D. [Rapid IV, |0.5 1o 1.0 inches/hour

Choose the correct answer from the options given below:

1. A-IL. B-1. C-IV, D-III

| ]

CA-IL B-II, C-II1, D-IV
3. A-III, B-IV, C-I1, D-I
4. A-IV, B-1II. C-I. D-II

Options :

6863405433. 1
6863405434. 2
6863405435. 3
6863405436. 4

Question Number : 59 Question Id : 6863401373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

T 1 (I9TE ) ﬁiﬂn(ﬁ'ﬁl‘q'a?}

A [§gd &Er . Jo.1¥ 0539 A

B. [di|m I |<0.15d /gal

C. & 1L |- 1.0 39 /9eT

D. [f&m IV |0.5 § 1.0 39 /4]
frafaRad foeed & 3 98t TR &1 991 DI

1. A-II. B-I1. C-IV, D-III

| o

cA-L B-II. C-III, D-IV
3. A-III. B-IV. C-II. D-I
4. A-IV. B-11I. C-I. D-II

Options :

6863405433. 1
6863405434. 2
6863405435. 3
6863405436. 4



Question Number : 60 Question Id : 6863401374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Coefficient of volume change (mv) 1s given by -

Where a,, 1s coefficient of compressibility and Co is mitial void ratio corresponding to the iitial pressure.

a,

1. mv=
l+¢,

|
=
=

|

4. mv

Options :

6863405437. 1
6863405438. 2
6863405439. 3
6863405440. 4

Question Number : 60 Question Id : 6863401374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :

No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S URad= &1 ulid
a, - JUII (GG 1)
e, Ridd® sgurd / 3if¥e garg

4. mv

Options :

6863405437. 1
6863405438. 2
6863405439. 3
6863405440. 4



Question Number : 61 Question Id : 6863401375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Determination of water content of a salt sample suspected to contain gypsum is made by drying the sample for
longer period at a temperature not more than

1. 60°C

| )

. 80°C
3. 100°C

4. 110°C

Options :

6863405441. 1
6863405442. 2
6863405443. 3
6863405444. 4

Question Number : 61 Question Id : 6863401375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁi@ggﬁﬂfﬁ@%?@ﬂﬁﬁﬂmmaﬂﬁimﬂﬁﬁaﬁmmwﬁmwwm
EIG]|

1. 60°C
2. 80°C
3.100°C
4, 110°C
Options :
6863405441. 1
6863405442.2

6863405443. 3
6863405444. 4

Question Number : 62 Question Id : 6863401376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On analysis of particle size distribution of a soil. 1t 1s found that D3 = 0.2 mm. D35 = 0.3 mm and Dg; = 0.8

mm. The coetficient of curvature. as given by the particle size of distribution curve will be -

1.04

2.0.5
3.06
4, 0.2

Options :

6863405445. 1
6863405446. 2
6863405447. 3
6863405448. 4

Question Number : 62 Question Id : 6863401376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%W ST fGdu] &1 fadyu &3 I3 D;g=02mm. D3;=0.3mm Sﬁ?D,@D = 0.8 mm T4 741, @l
DT AT fGaRUI & YR IR Ghell BT T[UTiP T §IT-

1.04
2.0.5
3.06
4.0.2

Options :

6863405445. 1
6863405446. 2
6863405447. 3
6863405448. 4

Question Number : 63 Question Id : 6863401377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consistency index (IC) is defined as

where w 1s natural water content of soil, w; 1s liquid limit of soil: wp is plasticity limit of soil: IP is plasticity

index of soil sample.

'I.I.'J, - W

l.Ic=
IP
2. IC= W —Wp
3 IC= W—Wp
P

4. IC=wp—w,
Options :
6863405449. 1
6863405450. 2

6863405451. 3
6863405452. 4

Question Number : 63 Question Id : 6863401377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TMedl Ya@Td & [y THR MR fawar orar §
w-TET &1 Ui i Sieiw
wy- g1 &t 5a S

Wp- gt @1 gucd HiAr
IP -gHEddl GaABI®

[ ]
—
Y
Il
=
-

I

=
-]

4, IC=wp—w;

Options :

6863405449. 1
6863405450. 2
6863405451. 3
6863405452. 4



Question Number : 64 Question Id : 6863401378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement - I : The zero-air curve is non-linear.

Statement - IT : The dry density at 100% saturation is non-linear function of void ratio.

In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement I is false.

4, Statement I is false but Statement IT is true.

Options :

6863405453. 1
6863405454. 2
6863405455. 3
6863405456. 4

Question Number : 64 Question Id : 6863401378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=i fqu U foseal # 9 9a9 IUgad SR @1 994 Hivig:
- gl sy feu §:

U I: Y a1 I SRFAP T

BYTIL: 100% TG UR Y[ g9 Rfakia uTd &1 3RRaP U gl
SWRIGd HUA & ATaAID |, A S0 U [dFedi § I Tel IO &1 999 DIoIg:

1. Y1 AR IS Tl &

2. BYF 1 3R 11 ST 7Tad &

3. FYT 196l 6. AT U 1 ad §
4. FYF 1 7T0d B, AfhT SUT 11 el ©

Options :

6863405453. 1
6863405454. 2
6863405455. 3
6863405456. 4



Question Number : 65 Question Id : 6863401379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Cohesive soil are generally

1. Plastic and also compressible

| B

. Elastic and also compressible
3. Plastic and incompressible
4. Elastic and incompressible

Options :

6863405457. 1
6863405458. 2
6863405459. 3
6863405460. 4

Question Number : 65 Question Id : 6863401379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEAP a1 AR R 8 TSR B il 8-
1. gued SR sy
AT 3R e
4. I SR Sy
Options :
6863405457. 1
6863405458. 2

6863405459. 3
6863405460. 4

[ ]

L]

Question Number : 66 Question Id : 6863401380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Terzaghi's general bearing capacity equation for a continuous footing is given by:
where Nc. Nq. Nr are the bearing capacity factors.

1. gf= CNC + 1DNq + 0.5:BNr

b2

.gf=CNC - rDNq + 0.5tBNr
3. gf=CNC - rDNq + 0.5rBNr
4. gf = CNC + 1DNg + 0.5:BNr

Options :

6863405461. 1
6863405462. 2
6863405463. 3
6863405464. 4

Question Number : 66 Question Id : 6863401380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 1T & fOTU Terzaghi's DT HHF YR &HAT FHIGRU Y H F 71 B1T-

1. gf = CNC + rDNq + 0.5tBNr
2. gf = CNC - tDNq + 0.5:BNr
3. gf=CNC - rDNq + 0.5rBNr
4. gf = CNC + 1DNq + 0.5:BNr

Options :

6863405461. 1

6863405462. 2

6863405463. 3
6863405464. 4

Question Number : 67 Question Id : 6863401381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

] . ) ~
In a direct shear test. the shear strength and normal stress on a dry sand sample at failure are 0.6 kg/cm* and

10 kg/em?, respectively. The angle of internal friction of the sand will be nearly

1..25°

| )

el B



Options :

6863405465. 1
6863405466. 2
6863405467. 3
6863405468. 4

Question Number : 67 Question Id : 6863401381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TIE SUBYUT T gRiel o, el Uk 6 ¥d & T R oAl B dldbd SR FH= 719 HHg:
0.6 kg/em? 3R 10 kg/em? 13 & ARG T ST S0 TIH &1 BT

1. 25

(=]

| ]
[F5]
—

]

L]
L]
o |

(8]

4.43°

Options :

6863405465. 1
6863405466. 2
6863405467. 3
6863405468. 4

Question Number : 68 Question Id : 6863401382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If the soil sample 1s having porosity 50% and degree of saturation at 90% then its percentage air void is -

1.5%

[
-y
(==}
2
o

4.4.5%

Options :

6863405469. 1
6863405470. 2
6863405471. 3
6863405472. 4

Question Number : 68 Question Id : 6863401382 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afe gt & 97 T TRHAT 50% 3R WS &1 HET 90% & o arg Rid wiowd 31 &1

1.5%

| )
-1
=
]
e

4.4.5%

Options :

6863405469. 1
6863405470. 2
6863405471. 3
6863405472. 4

Question Number : 69 Question Id : 6863401383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following expression represents the correct value of coefficient of curvature?

D, :
].. e f 11l}
t Dy = By
DV
2. ¢ APa)
j_]\“_‘u_“
3. C. = ['IIIJHI}_
: D » Dy
4 (= Dﬁll
9 [
Dﬁ{lxnll_l

Options :

6863405473. 1
6863405474. 2
6863405475. 3
6863405476. 4

Question Number : 69 Question Id : 6863401383 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafed & ¥ S gHie gl e &1 96t 9§ i 62

(D)

l. g a3
% D wDi,
2. .= [Dr’.l!J_
b "r'J'lu x I|l-;I‘Il
3| C. = [‘UIH]_
€ D= Dy
D,
7 o kil
4. € D xD
10

60

Options :

6863405473. 1
6863405474. 2
6863405475. 3
6863405476. 4

Question Number : 70 Question Id : 6863401384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Contaminated

water) LIST II (Infectious disease)

involve a host that depend on water

A [Water borne disease| I |0 - : ;
for its habitat eg. mosquitoes

Water-washed spread by ingestion of contamimated
B |, 1L St
disease water eg. Cholera
C Water-related I lack of sufficient water to maintain
" |disease " |cleanliness e g. trachoma

mvolves water contact but don't

D. |Water-based disease| I'V. i ; : 5o
require ingestion eg. schistosomiasis.

Choose the correct answer from the options given below:

1. A-I. B-II, C-III, D-IV

[ ]

. A-IL B-II1. C-IL, D-IV
3. A-III, B-11, C-IV, D-I
4. A-IV. B-1II. C-II. D-I

Options :

6863405477. 1
6863405478. 2
6863405479. 3
6863405480. 4



Question Number : 70 Question Id : 6863401384 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

I 1 (GIud S T 11 (FepTHd [T

A [9d ST SR | L [ Ol oe H u0H ard g R R evdi B

B. [Ga-ufadsmrl | I [doid ol did 9 ol ol

C. o -Gaed IHRT | 11 Rawsal 9910 e @ fold Ol &1 641 @ RO oY il
D. [od -3 SER1| IV, [oid 99 IHT & tid Aauell da) Wi e [y

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-I. B-II. C-III. D-IV

| o

. A-IL, B-I11. C-II. D-IV
3. A-III. B-1I. C-IV. D-I
4. A-IV. B-11I. C-I1, D-I

Options :

6863405477. 1
6863405478. 2
6863405479. 3
6863405480. 4

Question Number : 71 Question Id : 6863401385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I (Aquifer) LIST II (Characteristic)

: ’ water in the well rizes above ground
A lAquitard/ Aquiclhude | L ; =
level and flows without pumnping.
a saturated geological laver that 1s

B. |Artersian well IT. |permeable enough to allow easy water|
tlow.
C Flowing Arterian I [mpermeable laver that restricts the
" well " movement of ground water.
1 |t v [Fater naturally rising above the upper

surface of the confined aquifer.

Choose the correct answer from the options given below:

1. A-IV. B-III. C-I1. D-1
2. A-ILL B-IV. C-1, D-II
3. A-IV. B-1. C-I1. D-III
4. A-I. B-II. C-III. D-IV

Options :

6863405481. 1

6863405482. 2

6863405483. 3
6863405484. 4

Question Number : 71 Question Id : 6863401385 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

Tl 1 (W) Tt 11 (fe=rgaTe)
A [Bq Sayq Tadbiders| L [P &1 UMl S & Tde 9 S0 HIDR [6-1 [ 4l G0 & dgdl g
B. [3%d ®U 1L [Ueh Ygud YriiE W ol YR Siaydie &1 SHfd odl @
C_ [rarel 3gd @u 111 [0 ORI URd Sl HIHGie @1 T1d ®i Addl &
D. [Fa+R V. [a mip e ¥0 I HiiHd FIayd B S Jds & $HIE 3o4dl 5
frafafad faeel o I 981 Gk &1 98- ST -

1. A-IV. B-I11. C-1I. D-I

| o

AL B-IV. C-1, D-I1
3. A-IV. B-1, C-II. D-III
4. A-1. B-I1. C-III, D-IV
Options :

6863405481. 1
6863405482. 2



6863405483. 3
6863405484. 4

Question Number : 72 Question Id : 6863401386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The rate of accumulation of sludge per person per year 1s

1. 10 liter

| B

. 15 liter
3. 20 liter
4. 25 liter

Options :

6863405485. 1
6863405486. 2
6863405487. 3
6863405488. 4

Question Number : 72 Question Id : 6863401386 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T 3 wiroafda wfaay SouH R F@n?
1. 10 dleR

| ]
—
Ln

4.25 dleR

Options :

6863405485. 1
6863405486. 2
6863405487. 3
6863405488. 4

Question Number : 73 Question Id : 6863401387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In Chezy's formula p = ¢fis for calculating the velocity of flow in circular sewer of diameter D running full,
the value of hydraulic mean radius is

1.D

-2
1._.||::

+J|';‘;1

Options :

6863405489.
6863405490.
6863405491.
6863405492.

AW~

Question Number : 73 Question Id : 6863401387 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TNy - o VTS TAHR HiaR 7 78710 Bt 10 ATt ot 81 gapR IR & pa oo™ » Hae iy
said g1 1 &1 9 &1 givl-

1.D
3 &2
T2
3 2

3
4. 2

4

Options :

6863405489.
6863405490.
6863405491.
6863405492,

AW N —

Question Number : 74 Question Id : 6863401388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the grain size of soil increases

1. Surface area increase

[

. Specitic retention increase

L]

. Specitic yield and water supply in well increase
4. Specific yield and water supply in well decrease

Options :

6863405493. 1
6863405494. 2
6863405495. 3
6863405496. 4

Question Number : 74 Question Id : 6863401388 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el & HUT - H gfg I
1. UHTT &a%a | gig sl
2. fafRmy wrfear s¢it
3. U H O 3Tl SR fafRny <fsl gt
4. U H U Safd SR fafy wifs &8 gt
Options :
6863405493. 1
6863405494. 2

6863405495. 3
6863405496. 4

Question Number : 75 Question Id : 6863401389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The quantity of water retained by the sub-soil against gravity is known

1. Yield

[

. Porosity

L]

. Specific yield
4. Specific retention

Options :
6863405497. 1



6863405498. 2
6863405499. 3
6863405500. 4

Question Number : 75 Question Id : 6863401389 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3aEl GRI ToaBSU 9 & f4%G STa YRU] 301 FEardl ¢

1.T &I

2. TRl

3. fafmy fslr

4. faf¥y yRO
Options :
6863405497. 1
6863405498. 2

6863405499. 3
6863405500. 4

Question Number : 76 Question Id : 6863401390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The length of hydraulic jump is roughly

1. 2 to 3 times its height

| B

. 3 to 5 times its height
3. 5 to 7 times 1ts height
4. 1 to 2 times its height

Options :

6863405501. 1
6863405502. 2
6863405503. 3
6863405504. 4

Question Number : 76 Question Id : 6863401390 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863405501 1

6863405502. 2

6863405503. 3
6863405504. 4
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Question Number : 77 Question Id : 6863401391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The flow in open channel is said to be sub-critical if the Froude member is:

1.less than 1.0

[ ]

.equal to 1.0
3. greater than 1.0

4, less than 0

Options :

6863405505. 1
6863405506. 2
6863405507. 3
6863405508. 4

Question Number : 77 Question Id : 6863401391 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T&qn I dlg JYhifcie BT 3R Froude number -

10T HHR

fa—y

[ ]

10BWHR T

109 TeIR

L]

e

YAIFHT

Options :



6863405505. 1
6863405506. 2
6863405507. 3
6863405508. 4

Question Number : 78 Question Id : 6863401392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

During tillage soil particles move ahead and around the moving tool as they fail in shear. Therefore. tillage 15 a
process.

1. Statie
2. Dynamic
3. Thermal / Mechanical

4, Chemical

Options :

6863405509. 1
6863405510. 2
6863405511. 3
6863405512. 4

Question Number : 78 Question Id : 6863401392 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%WW%W@H@%W@M@ 3R 90 § Fif d SYSWUIE [d%d 5id & | SHleY
SdTE TP wfoar

1. @R

RIGEI]

ardtay et
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Options :

6863405509. 1

6863405510. 2

6863405511. 3
6863405512. 4

| )

(5]

Question Number : 79 Question Id : 6863401393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is not an advantage of farm mechanization -

1. mnecrease in farm labor productivity

[ ]

. inerease in crop productivity
3. merease in fertilizers and seeds
4. merease in profitability owing to efficient utilization of mputs.

Options :

6863405513. 1
6863405514.2
6863405515. 3
6863405516. 4

Question Number : 79 Question Id : 6863401393 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafefad § ¥ o te o aefi-ioxu o ary 781 §
1. Y 47 & JdIeT § gfg
2. By & I &HdAI H afs
3. @1g iR diell @1 gfg

4. FIfay HguanT & SR AMals

Options :

6863405513. 1
6863405514.2
6863405515. 3
6863405516. 4

Question Number : 80 Question Id : 6863401394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following governs the size of a seed rill :-

1. length = width of the machine

[ )

. amount of seed sown per unit time
3. area covered by the machine per unit time
4. number of furrow openers = distance b/w two furrow openers

Options :
6863405517. 1



6863405518. 2
6863405519. 3
6863405520. 4

Question Number : 80 Question Id : 6863401394 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fFafafad o 9 ue & afts & SR o1 afd e &-
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Options :

6863405517. 1
6863405518. 2
6863405519. 3
6863405520. 4

Question Number : 81 Question Id : 6863401395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The penetration power of a disc harrow can be manipulated by :

1. Gang angle

| B

. Tilt angle
3. Disc angle
4. Right angle

Options :

6863405521. 1
6863405522. 2
6863405523. 3
6863405524. 4

Question Number : 81 Question Id : 6863401395 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2. AT HI0T
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Options :

6863405521. 1

6863405522. 2

6863405523. 3
6863405524. 4

Question Number : 82 Question Id : 6863401396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Which of the following two types of cylinders are used on power wheat threshers :-
1. Serrated disc and rasp bar
2. Spike tooth and hammer mll
3. Hammer mill and flails
4. Spike tooth and wire looptype
Options :
6863405525. 1
6863405526. 2

6863405527. 3
6863405528. 4

Question Number : 82 Question Id : 6863401396 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feroTeit & <o arel g 9%R 3 fFafeiad 8§ 3 S Res g e

1. Serrated disc and rasp bar

[

. Spike tooth and hammer mill
3. Hammer mill and flails
4. Spike tooth and wire looptype

Options :
6863405525. 1



6863405526. 2
6863405527. 3
6863405528. 4

Question Number : 83 Question Id : 6863401397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The primary constituent of biogas is
1. Ethane
2. Pentane
3. Methane

4. Propane

Options :

6863405529. 1
6863405530. 2
6863405531. 3
6863405532. 4

Question Number : 83 Question Id : 6863401397 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST &7 WY 9o dT @
=i
Rerr
3. fad
4. 9o
Options :
6863405529. 1
6863405530. 2

6863405531. 3
6863405532. 4

—

| )

Question Number : 84 Question Id : 6863401398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A typical two-cycle spark-ignition engine uses the crankcase as an air pump to compress the air/fuel mixture.
Which of the following is/are not related to spark ignition engine :

1. Crank Dead Center (CDC)
2. Bottom Dead Center (BDC)
3. Middle Dead Center (MDC)

4. Head Dead Center (HDC)

Options :

6863405533. 1
6863405534. 2
6863405535. 3
6863405536. 4

Question Number : 84 Question Id : 6863401398 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ud two-cycele spark-ignition engine HT@-%EF! Myl giifsa s & FCTQ aryg & 0Hthd d9H
ST Ham | FEfafad B 9 e mw wrd giee 4 gea el e

1. Crank Dead Center (CDC)
2. Bottom Dead Center (BDC)
3. Middle Dead Center (MDC)
4, Head Dead Center (HDC)

Options :

6863405533. 1

6863405534. 2

6863405535. 3
6863405536. 4

Question Number : 85 Question Id : 6863401399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The expressions for diesel engine compression ratio and diesel engine power are :-

P
lL.rm= ”I_ . P=2NT

;"1'
2. r= ‘r_ £: P=2nNT

Vb 2
_ ! _ nl
i = V N
i
i 4 e p 2N
<"y T

Options :

6863405537. 1
6863405538. 2
6863405539. 3
6863405540. 4

Question Number : 85 Question Id : 6863401399 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST o HUte UTd 3R S Sor e & o Sl sifireafdd Suge ©-

Ly = Jr €, P=2NT
V,+V, :
2 e - P=2aNT
3 ,—'”f 2nT
oV N
V+V Y N
4, p = - ‘:P—bm\
C lL, T

Options :

6863405537. 1
6863405538. 2
6863405539. 3
6863405540. 4

Question Number : 86 Question Id : 6863401400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTII
(PTO Power at rated rotational
frequency of engine (kW)
I |80 to 185
1. Jupto 48
111 Jupto 98
IV, |150 to 350

LISTI
(Category)

REE
e ) W e

Choose the correct answer from the options given below:

1. A-I. B-II. C-III. D-IV
2. AL B-III. C-1. D-IV
3. A-IIL B-IV. C-I1. D-I
4. A-IV. B-111. C-I1. D-I

Options :

6863405541. 1

6863405542. 2

6863405543. 3
6863405544. 4

Question Number : 86 Question Id : 6863401400 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
A1) [ 11 @S IS YUt AT e (KW)
Al I [s0Hgs
B. | 1. s am
c. 3 111 jog
D. 4 IV. [150 H 350
fFrafeiad fasedl o 9 98l Gk &1 98- S -

1. A-I. B-II. C-III. D-IV

| ]

A-IL B-1ILL. C-1, D-IV
3. A-III. B-IV. C-II. D-I
4. A-IV. B-11I. C-I1, D-I

Options :

6863405541. 1
6863405542. 2
6863405543. 3
6863405544. 4



Question Number : 87 Question Id : 6863401401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

Physical Principles of Continuously Variable Transmission (CVT)

LIST&%’"‘" = LIST I (Principle of Energy)
A Hydrodynamic [. Hydrostatic forces at pump and motor
B i I [Electromagnetic forces at generator and
motor
C. [Hydrostatic II1. PMass forces at pump and turbine
D. [Electrical IN. |Traction forces at pump and motor

Choose the correct answer from the options given below:

1. A-I. B-II. C-II1. D-IV
2. AL B-TV. C-1. D-III
3. A-IIL B-IV. C-1, D-1I
4. A-IV. B-1I1. C-I1. D-I

Options :

6863405545. 1

6863405546. 2

6863405547. 3
6863405548. 4

Question Number : 87 Question Id : 6863401401 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 1 gl 11 9 o Sifey

A 1(CVT) T 11 (&A1 SR i)
_[gamioeim | 1. [0Y 3R HicR | gavideiy aa
GECH 11 [[Sggd Fradig oiel AR Hie H aq]

EEEIGES 111 |4y 3R 2aisd R T4t §d
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1. A-I. B-II. C-III. D-IV

o|o]w]s

| o

A-IL B-IV, C-I, D-II1
3. A-IIL B-IV. C-I. D-II
4. A-IV. B-11I. C-I1, D-I

Options :

6863405545. 1
6863405546. 2
6863405547. 3
6863405548. 4

Question Number : 88 Question Id : 6863401402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LIST I (Soil colour) LIST II (Characteristic compound)

A |Black I |Organic matter and Iron Oxides
B. [Red/ Brown / Yellow | I |JQuartz
¢ B e Titeniferous and magnetite
compounds
D. Wt Lathos IV |lron and manganese oxides
colours b

Choose the correct answer from the options given below:

1. A-IV, B-I1I. C-1I. D-I
2. AL B-IV, C-1,. D-II
3. A-IL B-1. C-IV. D-III
4. A-1. B-11. C-III. D-IV

Options :

6863405549. 1

6863405550. 2

6863405551. 3
6863405552. 4



Question Number : 88 Question Id : 6863401402 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey

HT 1 (FET BT T 11 (RIS fo=iuan)
A [@re L 1 uer R g HFE )
e/ s Uied| 1L [

EIEEl 111 [[eeeg AR TYeTze dif®
e 8o 3 | IV. [d18 3R 37 3MaEe

frafatad fowel 5 9 96t S| &1 994 DI -

1. A-IV. B-I11. C-1I. D-I

CIRE

| o

AL B-IV. C-1, D-I1
3. A-IL, B-1. C-IV, D-III
4. A-1. B-I1. C-III, D-IV

Options :

6863405549. 1
6863405550. 2
6863405551. 3
6863405552. 4

Question Number : 89 Question Id : 6863401403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a purely cohesive soil the critical center lies at the intersection of

1. perpendicular bisector of slope and the locus of the center

2. perpendicular drown at 1/ 3rd slope from toe and the locus of the center

3. perpendicular drawn at 2/31 slope from toe and the locus of the center

4. Disectional angle

Options :

6863405553. 1
6863405554. 2
6863405555. 3
6863405556. 4

Question Number : 89 Question Id : 6863401403 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863405553. 1
6863405554. 2
6863405555. 3
6863405556. 4

L]

Question Number : 90 Question Id : 6863401404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The Thiessen method of estimating average rainfall provides estimation as compared to arithmetic
mean method :

1. Less accurate
2. More accurate
3. Equally accurate
4. Specific
Options :
6863405557. 1
6863405558. 2

6863405559. 3
6863405560. 4

Question Number : 90 Question Id : 6863401404 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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6863405557. 1
6863405558. 2
6863405559. 3
6863405560. 4

Question Number : 91 Question Id : 6863401405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Erodibility 1s susceptibility of soil to erosion. It varies with -

A. Soil texture

B. Soil colour

C. Aggregate stability

D. Shear strength

E. Organic matter content

Choose the most appropriate answer from the option given below :
1.A.B.C,D only
2.B.C.D.E only
3.C.D.E.Aonly

4, D.E.A. B only

Options :

6863405561. 1
6863405562. 2
6863405563. 3
6863405564. 4

Question Number : 91 Question Id : 6863401405 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SRR iR fig! Bera @l Fafafad o 9 S yHIfdd SR &:
A. figi Bl g-mae
B. gt 13
C. 977 &R

D. ATST0
E. Slguerd &t A

1 fau U famed! A @ a8 SUgER IR &1 90 B
1.9dd A.B.C.D
2. $4dd B.C.D.E
3. $Ad C.D.E. A
4.%qd D.E.A.B

Options :

6863405561. 1
6863405562. 2
6863405563. 3
6863405564. 4

Question Number : 92 Question Id : 6863401406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The concept of sediment delivery ratio (Dr) 1s used to estimate the sediment yield of a watershed. The
sediment delivery ratio is defined as -

1. Soil loss of individual and specific plot.
2. Fraction of gross erosion that is transporter.
3. Erosion in individual and gully erosion.
4. Sediment produced from sheet erosion.
Options :
6863405565. 1
6863405566. 2

6863405567. 3
6863405568. 4

Question Number : 92 Question Id : 6863401406 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863405565. 1
6863405566. 2
6863405567. 3
6863405568. 4

Question Number : 93 Question Id : 6863401407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In the quadrantal bearing system. a whole circle bearing of 293°30' can be expresses as :

1. N23°30'W

| B

. W23°30™N
3. Ne6°30"W
4, 5113°30'N
Options :
6863405569. 1
6863405570. 2

6863405571. 3
6863405572. 4

Question Number : 93 Question Id : 6863401407 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U JUI 96 bearing WOME A 293°30' § O IS Wil H &1 1T

1. N23°30'W

[ ]

. W23°30'N
3. N66"30"W
4, 5113°30'N

Options :



6863405569. 1
6863405570. 2
6863405571. 3
6863405572. 4

Question Number : 94 Question Id : 6863401408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The unit of dynamic viscosity in C.4.S. system is -

1. Poise

[ )

. Stoke's

3. Bar

4. Kgflem?
Options :
6863405573. 1
6863405574. 2

6863405575. 3
6863405576. 4

Question Number : 94 Question Id : 6863401408 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C.G.S. UUTTeit § U Tfe Tadl 31 Sa1g aa1 it

1. Poise
T

3.4

B}

4. Keflem?®

Options :

6863405573. 1
6863405574. 2
6863405575. 3
6863405576. 4

Question Number : 95 Question Id : 6863401409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

1ISTI LISTII
A Dynamic Viscosity 1. |Pascal Second
B. |Force IT. [Newton
C. |Pressure IT1. |Pascal
D. [Kinemaric viscosity (cus uit) IV, |Stoke

Choose the correct answer from the options given below:

1. A-IV, B-II. C-I, D-III

| ]

CA-IL B-II, C-II1, D-IV
3. A-IL. B-1. C-III, D-IV
4. A-I. B-II. C-IV, D-III

Options :

6863405577. 1
6863405578. 2
6863405579. 3
6863405580. 4

Question Number : 95 Question Id : 6863401409 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 1 gl 11 9 o Sifey
A1 T 11
A i@ zaqal | 1 [ored des
B. [§a 1. [Req
C. [gdld IT1. [T et
D. [RlsATia® zaHd] IV, [Eie
frrafelad faseal & 3 98l IR @1 991 DI -

1. A-IV. B-II. C-1, D-III

| o

cA-L B-II. C-III, D-IV
3. A-Il, B-1. C-III. D-IV
4. A-I. B-II. C-IV, D-III

Options :

6863405577. 1
6863405578. 2
6863405579. 3
6863405580. 4



Question Number : 96 Question Id : 6863401410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements : One 1s labelled as Assertion A and the other is labelled as Reason R :
Assertion A : The gradient of velocity at right angles to the flow in called the shear rate.

Reason R : Shear rate 1s also known as velocity gradient or strain raste.

In the light of the above statements. choose the correct answer from the options given below :

1. Both A and R are true and R 1s the correct explanation of A.
2. Both A and R are true and R 1s NOT the correct explanation of A.
3. A is true but R 1s false.
4. A 15 false but R is true.
Options :
6863405581. 1
6863405582. 2

6863405583. 3
6863405584. 4

Question Number : 96 Question Id : 6863401410 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 gl BYA ﬁq g %’ Ud HHDHYF (Assertion A) CERE ﬁﬂ@ﬁ% 3R gl 3D HRUT (Reason R) &
SO W

HABYT A: YATE & GHBIU IR 16 371 Bt Yaurdl HT TSIV &R Hed 5
HRUT R: UPYU & &1 471 4aurdl [dold X & =u 8 Mt TH1 S g |
SWRIG BYH & HTciid H, i< f3U U fdeedi T I 9 Sugad SR &1 94+ SIfug:

1. A SRR EH T8l § 3SR R. A DI gl AT ©
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Options :

6863405581. 1
6863405582. 2
6863405583. 3
6863405584. 4



Question Number : 97 Question Id : 6863401411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Equilibrium Moisture Control (EMC) 1s most commonly deseribed using which of the following equation :-

1. Coulomb's equation

2

. Henderson equation
3. Bernouli's equation
4. Monod equation

Options :

6863405585. 1

6863405586. 2

6863405587. 3
6863405588. 4

Question Number : 97 Question Id : 6863401411 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 4t siw & ferr Fafafad § O fog adie o1 gaifas Suan foar e -

1. Coulomb's equation

|

. Henderson equation

L¥ ]

. Bernouli's equation
4. Monod equation

Options :

6863405585. 1
6863405586. 2
6863405587. 3
6863405588. 4

Question Number : 98 Question Id : 6863401412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s related to blue revolution :-

1. O1l seeds

| B

. Fisheries

LIPS ]

. Crops

=

. Energy Source



Options :

6863405589. 1
6863405590. 2
6863405591. 3
6863405592. 4

Question Number : 98 Question Id : 6863401412 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafeiad 3 9 o il wifd ¥ Jafid 5-

1. 3mge disd

 H& Ylefd

Rt
4. Gl Wi

Options :

6863405589. 1

6863405590. 2

6863405591. 3
6863405592. 4
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Question Number : 99 Question Id : 6863401413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s the test organism for pasteurization :-
1. Clostridium pasteurizanum
2. Bacillus subtilis
3. Rluzobium

4. Coxicella Brunetti

Options :

6863405593. 1
6863405594. 2
6863405595. 3
6863405596. 4

Question Number : 99 Question Id : 6863401413 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863405593. 1
6863405594. 2
6863405595. 3
6863405596. 4

Question Number : 100 Question Id : 6863401414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement - I : Pasteurization refers to preservation of food by heat treatment to kill majority of
microorganismes.

Statement - II : Unlike pasteurization, in sterilization all the microorganism are killed at low temperatures.
In the light of the above statements. choose the correct answer from the options given below:

1. Both Statement I and Statement IT are true.
2. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false.

4. Statement [ 15 false but Statement 11 is true.

Options :

6863405597. 1
6863405598. 2
6863405599. 3
6863405600. 4

Question Number : 100 Question Id : 6863401414 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

6863405597. 1
6863405598. 2
6863405599. 3
6863405600. 4



